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Circle Based Arrangement  

Directions (1-5): Study the following information carefully and 
answer the below questions. 

A certain number of persons are sitting around the circular table 
facing the center. Q sits second to the left of H. Only two persons are 
sitting between H and M. Only one person sits between M and L. L 
does not sit adjacent to H.  

The number of persons sits between H and L is the same as the 
number of persons sit between H and R. The number of persons sits 
between Q and M is one less than the number of persons sits 
between R and L, when counted to the right of both Q and L 
respectively. L sits exactly in the middle of V and M. T sits second to 
the right of V. 

1) Who among the following person sits fifth to the left of Q?  

a) The one who sits third to the right of M  

b) The one who sits second to the right of V  

c) H  

d) Q  

e) None of these 

Answer : B 
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We have,  

• Q sits second to the left of H.  

• Only two persons are sitting between H and M. 

From the above condition, there are two possibilities. 

 

Again we have,  

• Only one person sits between M and L.  

• L does not sit adjacent to H.  

• The number of persons sits between H and L is the same as the 
number of persons sit between H and R. 
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Again we have,  

• The number of persons sits between Q and M is one less than the 
number of persons sits between R and L, when counted to the right 
of both Q and L respectively.  

• L sits exactly in the middle of V and M.  

• T sits second to the right of V. 

From the above condition, case1 gets eliminated. Case 2 shows the 
final arrangement. 

 

2) How many persons are sitting around the circular table?  

a) 19  

b) 17  

c) 16  
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d) 18  

e) 20 

Answer : C 

 

 

We have,  

• Q sits second to the left of H.  

• Only two persons are sitting between H and M. 

From the above condition, there are two possibilities. 

 

Again we have,  

• Only one person sits between M and L.  

• L does not sit adjacent to H.  
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• The number of persons sits between H and L is the same as the 
number of persons sit between H and R. 

 

Again we have,  

• The number of persons sits between Q and M is one less than the 
number of persons sits between R and L, when counted to the right 
of both Q and L respectively.  

• L sits exactly in the middle of V and M.  

• T sits second to the right of V. 

From the above condition, case1 gets eliminated. Case 2 shows the 
final arrangement. 

 

3) If T is related to V and L is related to M in a certain way. Then, 
who among the following is related to Q? 
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a) The one who sits third to the left of V  

b) The one who sits second to the left of R  

c) M  

d) H  

e) None of these 

Answer :D 

 

 

We have,  

• Q sits second to the left of H.  

• Only two persons are sitting between H and M. 

From the above condition, there are two possibilities. 
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Again we have,  

• Only one person sits between M and L.  

• L does not sit adjacent to H.  

• The number of persons sits between H and L is the same as the 
number of persons sit between H and R. 

 

Again we have,  

• The number of persons sits between Q and M is one less than the 
number of persons sits between R and L, when counted to the right 
of both Q and L respectively.  

• L sits exactly in the middle of V and M.  

• T sits second to the right of V. 

From the above condition, case1 gets eliminated. Case 2 shows the 
final arrangement. 
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4) How many persons are sitting between T and M when counted 
from the left of T? 

a) Six  

b) Two  

c) Three  

d) Four  

e) Five 

Answer : E 

 

 

We have,  

• Q sits second to the left of H.  
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• Only two persons are sitting between H and M. 

From the above condition, there are two possibilities. 

 

Again we have,  

• Only one person sits between M and L.  

• L does not sit adjacent to H.  

• The number of persons sits between H and L is the same as the 
number of persons sit between H and R. 

 

Again we have,  

• The number of persons sits between Q and M is one less than the 
number of persons sits between R and L, when counted to the right 
of both Q and L respectively.  

• L sits exactly in the middle of V and M.  
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• T sits second to the right of V. 

From the above condition, case1 gets eliminated. Case 2 shows the 
final arrangement. 

 

 

5) Which of the following statement(s) is/are true? 

I. M and V are immediate neighbors 

II. Only one person sits between R and T when counted from the left 
of R  

III. Q sits third to the right of R 

a) Only I  

b) Only I and II  

c) Only III  

d) Only II and III  

e) All I, II, and III 

Answer : D 
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We have,  

• Q sits second to the left of H.  

• Only two persons are sitting between H and M. 

From the above condition, there are two possibilities. 

 

Again we have,  

• Only one person sits between M and L.  

• L does not sit adjacent to H.  

• The number of persons sits between H and L is the same as the 
number of persons sit between H and R. 
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Again we have,  

• The number of persons sits between Q and M is one less than the 
number of persons sits between R and L, when counted to the right 
of both Q and L respectively.  

• L sits exactly in the middle of V and M.  

• T sits second to the right of V. 

From the above condition, case1 gets eliminated. Case 2 shows the 
final arrangement. 

 

Directions (6-10): Study the following information carefully and 
answer the below questions. 

A certain number of persons are sitting around the circular table 
facing towards the center. X sits fourth to the right of the one who 
sits second to the left of T. Only two persons are sitting between X 
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and G. Only one person sits between A and the person who sits 
second to the left of X.  

The number of persons sitting between F and A is the same as the 
number of persons sitting between A and X. M sits fourth to the right 
of G but not immediate left of F. At least two persons are sitting 
between F and G. The number of persons sitting between M and X is 
the same when counted from either the left or right side of both. 

6). How many persons are sitting around the circular table?  

A. 13  

B. 17  

C. 16  

D. 14  

E. 15 

Answer : D 

 

 

We have,  

• X sits fourth to the right of the one who sits second to the left of T. 

• Only two persons are sitting between X and G. 

From the above condition, there are two possibilities. 
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Again we have,  

• Only one person sits between A and the person who sits second to 

the left of X.   

• The number of persons sitting between F and A is the same as the 

number of persons sitting between A and X. 

 

Again we have,  

• M sits fourth to the right of G but not immediate left of F.   

• At least two persons are sitting between F and G.   

• The number of persons sitting between M and X is the same when 

counted from either the left or right side of both. 

From the above condition, case2 gets eliminated. Case 1 shows the 

final arrangement. 



                                                                                               

 15 www.bhagyaachievers.com 
9878791366 

 

 

 
 

7). If W sits exactly in the middle of M and G, then what is the 

position of W with respect to X?  

A. Fifth to the right  

B. Sixth to the right  

C. Fifth to the left  

D. Third to the left  

E. Fourth to the left 

Answer : A 

 

 

We have,  
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• X sits fourth to the right of the one who sits second to the left of T. 

• Only two persons are sitting between X and G. 

From the above condition, there are two possibilities. 

 

Again we have,  

• Only one person sits between A and the person who sits second to 

the left of X.   

• The number of persons sitting between F and A is the same as the 

number of persons sitting between A and X. 

 

Again we have,  

• M sits fourth to the right of G but not immediate left of F.   

• At least two persons are sitting between F and G.   

• The number of persons sitting between M and X is the same when 

counted from either the left or right side of both. 
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From the above condition, case2 gets eliminated. Case 1 shows the 

final arrangement. 

 

 
 

8). How many persons are sitting between A and G?  

A. More than six  

B. Two  

C. Three  

D. Four  

E. Six 

Answer : E 
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We have,  

• X sits fourth to the right of the one who sits second to the left of T. 

• Only two persons are sitting between X and G. 

From the above condition, there are two possibilities. 

 

Again we have,  

• Only one person sits between A and the person who sits second to 

the left of X.   

• The number of persons sitting between F and A is the same as the 

number of persons sitting between A and X. 

 

Again we have,  

• M sits fourth to the right of G but not immediate left of F.   

• At least two persons are sitting between F and G.   
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• The number of persons sitting between M and X is the same when 

counted from either the left or right side of both. 

From the above condition, case2 gets eliminated. Case 1 shows the 

final arrangement. 

 

 
 

9). If G and X interchanges their position and then X and M did the 

same, then who among the following person sits third to the left of 

M? 

A. The one who sits second to the left of F 

B. The one who sits third to the right of A  

C. G  

D. X  

E. A 

Answer : C 
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We have,  

• X sits fourth to the right of the one who sits second to the left of T. 

• Only two persons are sitting between X and G. 

From the above condition, there are two possibilities. 

 

Again we have,  

• Only one person sits between A and the person who sits second to 

the left of X.   

• The number of persons sitting between F and A is the same as the 

number of persons sitting between A and X. 



                                                                                               

 21 www.bhagyaachievers.com 
9878791366 

 

 

Again we have,  

• M sits fourth to the right of G but not immediate left of F.   

• At least two persons are sitting between F and G.   

• The number of persons sitting between M and X is the same when 

counted from either the left or right side of both. 

From the above condition, case2 gets eliminated. Case 1 shows the 

final arrangement. 

 

 
 

10. Who among the following person sits third to the left of the 

one, who sits second to the left of T? 

A. G 
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B. A  

C. The one who sits immediate right of F  

D. The one who sits third to the right of X  

E. None of the above 

Answer  s: C 

 

We have,  

• X sits fourth to the right of the one who sits second to the left of T. 

• Only two persons are sitting between X and G. 

From the above condition, there are two possibilities. 

 

Again we have,  

• Only one person sits between A and the person who sits second to 

the left of X.   
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• The number of persons sitting between F and A is the same as the 

number of persons sitting between A and X. 

 

Again we have,  

• M sits fourth to the right of G but not immediate left of F.   

• At least two persons are sitting between F and G.   

• The number of persons sitting between M and X is the same when 

counted from either the left or right side of both. 

From the above condition, case2 gets eliminated. Case 1 shows the 

final arrangement. 
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A "copyright infringement notice warning" is a formal notification sent 
to an individual or entity informing them that they are suspected of 
using copyrighted material without permission, essentially stating that 
they are violating copyright laws and must cease and desist from 
further unauthorized use of the protected work; this notice typically 
includes details about the infringing material, the copyright owner's 
identity, and a request to remove the content or seek proper 
authorization to use it.  
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Reach us also on- 

Website - https://bhagyaachievers.com/ 

Instagram - https://www.instagram.com/?hl=en 

Telegram - https://t.me/Bhagyaachieverstestseries 
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